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Meningitis 
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البكتیریا یصد یحاول الجسم كأنھ
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الجلوكوز تأكل عشان برا ھي ما
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MCQ’s.
Q1: Meningitis refers to inflammation of the brain
A: True B: False
Ans: B
Explanation: The term encephalitis refers to an inflammation of the brain. Meningitis is an inflammation 
of the membranes (called meninges) that surround the brain and spinal cord.

Q2: Meningitis in a 4 days old neonate is most likely to be caused by which organism:
A. Group B streptococcus B. Mycobacterium
C. Staphylococcus
D. Herpes simplex
Ans: A
Explanation: Bacterial infections by GBS result from swallowing of infected amniotic fluid or maternal 
secretions during delivery by infants of mothers who have vaginal colonization of GBS, although later 
infections may be acquired through nosocomial transmission.

Q3: Causes of aseptic meningitis include:
A. Antibiotic treated Haemophilus influenzae B. Mycobacterium tuberculosis
C. Fulminant Neisseria meningitidis infection D. Cryptococcus neoformans
E. A serious Enterovirus infection

Ans: E
Explanation: Aseptic meningitis is also known as viral meningitis. The name is derived from the original 
failure to (i) observe turbidity in CSF samples from viral meningitis patients and (ii) culture 
microorganisms from infected CSF.

Q4: The most common route of infection in meningitis is:
A. via peripheral nerves.
B. via the paranasal sinuses. C. via the ears.
D. through the skin.
E. via the bloodstream.

Ans: E
Explanation: The critical step in the pathogenesis of meningitis is for the microorganisms to be able to 
cross the blood-brain barrier. The most common method for this to occur is from the presence of 
significant numbers of microorganisms in the bloodstream.



Q5: A cerebrospinal fluid specimen was examined and the following preliminary results were 
obtained: Description: 3x 2.4mL, clear
- Protein: 0.55 g/L
-Glucose: 2.9 mmol/L
-WCC: 6 x 108 /L
-30% PMN
-70% Monocytes
This report is consistent with:

A. a poorly collected specimen B. an uninfected CSF specimen C. bacterial meningitis
D. viral meningitis
E. a normal CSF

Ans: D
Explanation: Several results indicate that this may be a viral infection. Firstly, the CSF is clear. This either 
means that a viral infection is present or,indeed, that there is no infection. The protein level is higher than 
normal (normal range 0.15 - 0.45 g/L). The glucose level is in the normal range, which suggests that it is not 
bacterial in nature. Noticeably, the WBC count is also above the threshold for infection. This data combined 
suggests a viral infectious agent.

Q6: All of the following CSF findings are present in tuberculous meningitis, except:

A. Raised protein levels B. Low chloride levels C. Cob web formation D. Raised sugar levels

Ans: D
Explanation: Glucose levels are decreased in tuberculous meningitis.

Q7: Which of the following is a morphologic feature of brain abscesses?
A: wedge shaped areas of infarction
B: meningeal fibrosis
C: reactive astrocytes and perivascular inflammatory cells D: A+B
Answ: C

Q8: William Mountain, age 65, arrives at the emergency department with fever, headache, and stiff 
neck. His wife tells you he has also been experiencing nausea, vomiting, photophobia, and an altered 
mental status.
Which of the following organisms is most likely causing the disease?
A: E. coli
B: Neisseria meningitidis
 C: Listeria monocytogenes
 D: Group B streptococci
Ans: C



الكرام الأمراض علم فریق أعضاء قبل من العظیمة للجھود والتقدیر الشكر كل

الأمراض▪ علم فریق قادة

الماجد• بثینة
الأمراض▪ علم فریق أعضاء

الفرم▪ رناد
الصباغ▪ لیلى
القرین▪ عھد
الزھراني▪ رزان
الراجحي▪ بلقیس
الرحیمي▪ بتول
العمري▪ مھا

•
•

العبرة• منصور


